BREAE

WX (K% BEHA |MXARK |BHE | AsBE
1 " g 12 4,800 8AH31H
2| . |&EIK 2 800 | 128 20H
2 24
3 - I 3 1,200 8A31H
4 81| 2,800 [ 9A29H
5 V=] 24 9,600 1186H
6 —Bg 23 9,200 | 128 18H
7 = L& (4 58) 13 5200 | 9H14H
8 jt ili& (%2 E) 30 158 12,000 | 12822H
9 Ak 22 8,800 | 11828H
10 #8 1 23 9,200 | 88308
11 BE 23 9,200 | 8829H
12 Ik 18 7,200 | 68228
13 TN 24 9,600 | 18268
14 BE 21 8,400 | 11827H
15| B [KE=® 33 13,200 | 118211
16| ® |ER 209 1,600 | 1815H
17| & |EH (&) 3,200 1A15H
18| & [EHGRI) 1,200 1R16H
19 HLoF 24 9,600 | 11829H
20 R 24 9,600 | 128 13H
21 REF 50 20,000 | 11820H
22 = 1L (A455) 26 10,400 [ 108148
23 = 1L (347K) 10 4,000 9A1H
24 = alll 38 15,200 | 128221
25 5 ES[ES 0 0
26 B 35 ’14 14,000 | 9813H
27 " 3= 31 12,400 | 11R16H
28 " y7Ep- 15 6,000 | 9819H
29 £H 31 12,400 | 9R4RH
30 HE 24 9,600 | 18178
31 I 4 1,600 [ 9A28H
32 ITEER 22 8,800 | 18248
33 = 21 8,400 11818
34 - KRNI K 16 6,400 | 128 27H
35 " A 20 147 8,000 1A15H
36| |rEmI 22 8,800 | 128250
37 &= 28 11,200 | 1824R
38 AL 18 7,200 | 11828
39 KT 18 7,200 [ 8A30H
40 MT 29 11,600 9AR1H
41 p==A10 18 7,200 | 11816H
2 # (L= 23 188 9,200 | 108 13H
43 2 32 12,800 | 8H29A
44 &L 28 11,200 | 1288H
45 FEL 20 8,000 | 128 26H
46 KSR 20 8,000 11898
47 iG] 0
48 H) (&) 20 8,000 8AH29H
491 M [F)I(FEMH) 18 - 7,200 9A29H
50 HER 12 4800 9A8H
51 Al pEfin 22 8,800 | 11821H
52 =41 20 8,000 | 128208
53 2N 13 5200 | 9A1H
54 5 33 13,200 2820H
55 5 AL AU 19 7,600 | 12827H
56 " R 24 9,600 [ 98268
57 REAR(/\1X) 7 150 2,800 | 118308
58| .. [REAGER) 3 1,200 | 1A16H
59 %Zg K4 11 4,400 | 98150
60 #RI, 17 6,800 | 9821H
61 AU 23 9,200 1818H
62 pahi:} 0 0
1182 1182| 472,800
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